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LARLT | LRL2 | LARLS LARIL4 LRILS LARILG oy SIS LAIEEES ¢ |
IERyD| IfE &R A R BEEXR RETHE | BEHE | HitH=E (HkEHE
ERMEEEET = 1

AR - K @ T E 1
B ET =+ 1
BR&KmE [l 70 70

/AkO—/L (£ DR2794th) 54 k/321500cc, L=56.0km [l 10 10

/30— (£ DR3384th) SAk/321500cc, L=46.4km [l 10 10

NE—)L (R#E) SA/321500cc, L=89.6km [=] 10 10

NrO—=)LUIA. BER) SA/321500cc, L=94.4km [=] 10 10

JNE—)L (K4H) SA/321500cc, L=60.1km [=] 10 10

/AkO—)L (K. BRE#H) SA/321500cc, L=31.1km [=] 10 10

A=V UEFH) SA/321500cc, L=64.9km [=] 10 10

KB KE [=] 35 35
KB/NFE—)L(£DR2794t1) |54 k/\21500cc, L=56.0km [=] 5 5

AB/FE—)L(£DR3384th) |54/ k/\21500cc, L=46.4km [=] 5 5

KB/ N\FE—)L (E#E) SA/321500cc, L=89.6km =] 5 5

KBARE—=LUINA., BREFIR) |54 k/\21500cc, L=94.4km =] 5 5

KB/ NE—JL (KYH) SA/321500cc, L=60.1km =] 5 5

KB/ \kO—)L (K. BREE) | 5Ak/\21500cc, L=31.1km =] 5 5

wB/NFE—JLUEFH) SA/321500cc, L=64.9km =] 5 5

TE Hi =) [ 105 105

/AO—/L (£ DR2794th) 54 k/321500cc, L=56.0km [l 15 15

/30— (£ DR3384th) SAk/321500cc, L=46.4km [l 15 15

NE—)L(E#E) SA/321500cc, L=89.6km [=] 15 15

NrO—=)LUIA. BER) SA/321500cc, L=94.4km [=] 15 15

JNE—JL (K4H) SA/321500cc, L=60.1km [=] 15 15

/AO—)L (K. BRE#H) SA/321500cc, L=31.1km [=] 15 15

A=V UEFH) SA/321500cc, L=64.9km [=] 15 15

ERERMEEET = 1
ERAAIBHEM T = 1
H—FL—IL#E T A, TERGr-C2-3E m 70.00 70.0
H—FL—ILKE T A, TERGr-C2-3E m 70.00 70.0

L—ILiE REIA. A-B-Ci& m 35.00 35.0

L—ILERE REAIF. A-B-Ci& m 35.00 35.0

fliET = 1
BB RS m 30.00 30

B A#E L=2000 1000kg/{ELLTF m 30.00 30.0

= 4ot A'YF7a-L 13& 300 m 10.00 10.0

2 4ot A'YF7a—-L 1FE 450 m 10.00 10.0

AT UZU{AliE US1-B-B450 m 10.00 10.0

fiEEmE ® 100 100

B BElE CoZEMR-7'L—FUI 40kgZ#Z170ke/HMUUT | #& 100 100

1<t FC3-B300 412 X 95 X 500mm 53 20 20

&t FC3-B400 512 % 110 X 500mm " 20 20

1<t FC1-B-B360 490 x 100 X 500mm 54 20 20

B FC1-B-B450 600 X 120 X 500mm 54 20 20




LARJLT | LR)L2 | LARLS LR)L4 LARJL5 LRJL6 B SHBE LIPS i
I=ERyD| IfE &R a1 R BEEXR RETHE | BEHE | HitH=E (HkEHE
iERE) TL-Fu0E BHAE HEETA 400 T-25 995mm | K 10 10
T TL-FUE REREGEEE)400H L3 5 5
T TL-FUrE FREREGEEE)00H L3 5 5
HRRFEET = 1
RRFEEET x 100 100
= TiEAR & 100 100
ERE T hEAR R/-F-LEERE) P 100 100
HEOMIZET x 50 50
RiE (FRIDOH&) R = (BEFAL = - 3ARD) x 30 30
RE BiiE = (R 7L - 3ARH) & 20 20
ZHT = 1
BAIXZ RS ® 20 20
] ZRARHEAR mE& (5. 20 20
Hh—J35—I ) = 1
Hh—T35—IBE [i1] 10 10
= [i1] 10 10
i $800 AT L A& [ 5 5
T ¢ 1000 RTLAEL [i:1] 5 5
%L =® 1
N)r—RT = 1
NYr—RERERS & 140 140
RE & 140 140
Bx= & 140 140
ERRERE = 1
ERRERS ® 70 70
B ® 70 70
BE 4 70 70
Tn5%8T = 1
TD5%FET = 1
Tn>5 8, FBIL = 200 200
WBELTDS 8, FBIL % 100 100
RKBE+DS55%ET KB+ OS58E, B GRAL) ® 500 500
BIEMMEE = 1
BIEHIEE = 1
TEFXE A 700.00 | 700.00
BEXEE A 70.00 70.00
b7y (YL—VEE T )EER 411829t =] 50.00 50.0
b7y (GL—VEE T)EER 8t182.9tF =] 30.00 30.0
INBI N Ry EEr HE-18 FEFE0.1m3 =] 30.00 30.0
Ny B #-18 FF50.2m3 =] 50.00 50.0
Nyhh B #-18 F350.35m3 =] 30.00 30.0
Ny Bl #-18 F350.4m3 =] 30.00 30.0
Ny Bl #-18 FF50.7m3 =] 30.00 30.0
V7 by EEr HE-22 2t =] 90.00 90.0
Y7 by EEr HE-22 4t =] 90.00 90.0




LAJLT [ LARL2 | LALS LAJLA LAJLE LARJL6 B SHUE FIEZESE E
IERX45| IiE 25l Eiipl| R BEEXR RETHE | BEHE | HitH= |HkEHE
TV Vo EER #E-22 10t B 30.00 30.0
SPTEEEESR H-28 7=L% 12m =] 30.00 30.0
HME HHE % 5 5
XEEET = 1
XBFEZHRE A 280 280
REFEZHEEA A 140 140
RXEFEZHEEB A 140 140
HERER
HERRE 1
RfttERE 1
EREEEHE = 1 1
EHEHE -k 5] 12 12
REREHSE £E3[E 5] 3 3
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LARLT | LRL2 | LARLS LARIL4 LARILS LARILG oy SHBE LAIEEES ¢ | .
IERS| I &3 7 g BEEXR RETHE | BEHE | R HE |HEkEuE
SEMEEET = 1
HET = 1
mESHBEET = 1
MEBEHMEET QBEZHENI) HEET =5t 20tk t 30.00 30.0
QBAEZMENI) (Lot (BEFRERO . ®FEH) t 15.00 15.00
QBEAZHENS) (L oHMREFR. KEMT. BEEH . EFHH) t 15.00 15.00
MBEMEETI OQBFEFRENZ) BEI=2t E5tKE t 30.00 30.0
DBEFHENZ) (Lo (HBEFRERO .. BEH) t 15.00 15.00
QBEAZHENS) (L oHREFR. KEMT. BEEH . EHH) t 15.00 15.00
MBEMEETI OBFEFHENZ) BEI= 1t E2tRE t 40.00 40.0
DBEFHENZ) (Lo (HBEFRERO .. BEH) t 20.00 20.00
QBEAZFHENS) (L oHRER. KEMT. BEEH . EHH) t 20.00 20.00
MEBEHMEET OFEZHENIF) HET=5tE20tkK t 30.00 30.0
SEEFRHENIF) (Lo (BEFFRERQ .. BEH) t 15.00 15.00
OBEAZHENIR) (L omMER. KEAT. BEEH . EHH) t 15.00 15.00
MEBEHMEET OBFEFZHENF) BEI =2t E5tKGH t 30.00 30.0
OBEZHENIF) (Lot (BFRERO . ZREH) t 15.00 15.00
OBAZHENIR) (L omMER. KEAT. BEEH . EHH) t 15.00 15.00
MEBEHMEET OBFEFZHENF) BEIS 12K t 40.00 40.0
OBEZHENIF) (Lot (BFRERO . REH) t 20.00 20.00
OBAZHENIR) (L omMER. KEAT. BEEH . EHH) t 20.00 20.00
MEEHMEET OBEEMAENIF) BET =5t 20tkK t 30.00 30.0
QEEMAMENIF) (Lo (BEFRERO .. ZREH) t 15.00 15.00
@OEEMAENIF) (L OmEBEFR. KHEET. BEHEA. EFF) t 15.00 15.00
MEBEHMEET OBEEMAENF) BEI =2t E5tKHH t 30.00 30.0
QDEEMAMENIF) (Lo (BEFRERO .. ZREH) t 15.00 15.00
@OEEMAENIF) (L OmEBEFR. KHEET. BEHEA. EFF) t 15.00 15.00
MEBEHMEET OBEEMAENF) BEIS 12K t 40.00 40.0
QDEEMAMENIF) (ot (BEFRERO .. ZREH) t 20.00 20.00
@OEEMAENIF) (L OmEBEFR. KHEET. BEHEA. EFFD) t 20.00 20.00
HEAMEET = 1
HEREMEEL wEiRAM (Ziem) t 12.00 12.00
PRAET = 1
FEEZEIE #HREMEARC-40) (CE#)t=3cm | (F¥)t=3cm m2 | 1000.00 1000
BREEIE AAIZEBE(FHR L=2.0kmLL T m2 540.00 540
REET = 1
REEET = 1
XEFEZRE A 70 70
RBEREZHEA A 35 35
XEBEFEZLHEDB A 35 35
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LALT | LA)L2 | LRLS LARL4 LARILS LAILG oy SHBE LIPS .
IERyD| IfE &5l a1 R BEEXR RETHE | BEHE | HitH=E (HkEHE
EREREEED) T = 1

ERERT = 1
BEERLT = 1
BEFRERES- AN D km 70.00 70.00

BEERERES- AN Ta km 40.00 40.00
BEARGEE - NH) EE m2 | 30000.00 | 30000.0

BEKIEER BT = 1

BEER R ¢ 400~ ¢ 800mm. 50%KE . Bl m 400.00 400

fEFRAN m= m 6000.00 6000

fEFRAN avy)—r&E m 1000.00 1000
SokBt - HEMFRAND) BE. LHE25cmEH & 200 200

REET = 1
RETET = 1
XBFEZHRE A 70 70

REFEZHEEA A 35 35

REFEZHEEB A 35 35
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LALT | LA)L2 | LRLS LARL4 LARILS LAILG oy SHBE LIPS .
IERXS| IfE G| Eiipl| g BEEXR RETHE | BEHE | RETHE |HEEHE

BRET = 1
BRET = 1
ERBRET ™ 1
HHREE R BE-£5 m2 |180,000.00| 180,000
HHREE R BRE-£EEREY V7' by 2tk m2 | 10,000.00| 10,000
ANBE BRI MR - S - EIR A Y V7 by 2tk m2 | 10,000.00| 10,000
REET = 1
XEEET =% 1
XBFEZHRE A 40 40
REFEZHEEA A 20 20
REFEZHEEB A 20 20
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LALT | LA)L2 | LRLS LARL4 LARILS LAILG oy SHBE LIPS .
IERyD| IfE &5l a1 R BEEXR RETHE | BEHE | HitH=E (HkEHE
HEMEET = 1

FrEH T = 1
FhEMRLELT = 1
EEMREL WL, FERURSHE! m 6550.00 | 6550.0

EEMREL WEL . KFERIESE! m 291400 | 2914.0

EEMREL BE., TERUREHEY m 726.00 726.0

SR T = 1

(& XE MR WL, TERURSHE! m 6550.00 | 6550.0

(& XE MR WL KFERIESE! m 291400 | 2914.0

(& XE MRS A BE, TERUEHEY m 726.00 726.0

HEMRET = 1

E MR E wER (EER) m 14.00 140

RERMERE wER (REx=) m 230.00 230.0

P EHHEET = 1
ERTEES wEX (EEX) m 14.00 14.0

M E v (REk =) m 230.00 230.0

REET = 1
REEET = 1
XBFEZHRE A 20 20

REFEZHEEA A 10 10

REFEZHEEB A 10 10
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LARJLT | LR)L2 | LARLS LR)L4 LARJL5 LARJL6 B SHUE FIEZESE .
TERS| THE | A @31 i REER Tl urtue | R | Rie | uxmus| o
hEHEREET = 1
PhEMHREE = 1
BE R SR = :
MEMmR SRR E UL RIL) =X 1 BEEREA
EroRILBE IR L@EEZE (1 A*(1hr/B)/(8hr/B)¥1208 (A -B 15.00 15.00 #%. 88,
MEBEEE = 1
MEEEE (IR =® 1
MEEEE (JIINAE) TEFXE A 37.00 37.00
BEXE A 4.00 4.00
BET A 1.00 1.00
ET A 1.00 1.00
BKE A 5.00 5.00
BBk A& =] 2.00 20
(3 5 2.00 2.0 + O (GER )
37TL-vhL— & ER25t =] 6.00 6.0
by BER(IL—VEEE )4t, 2.9t F =] 7.00 7.0




